EARAROBEEIERT — 2 N— IBISH —F

201295350 () 3mKiR2H

m C24+=# 7% ‘ (xfg] £ ‘ [REmshE]  — | & () 13000 FR
[A&4£] 1 7% :100,000  ~ 23#&:20,000”  33%&:10,000 M  43#&:7,000H ~ 53 :3,000H
& %B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
. o B2 122, —4-4- . — HEE= (BE)
1 2 =P 4 5 oz 1(2_2)9 4-4-4-3 | 38.3 3 ;1+435) s
L:7Ihty b By bhrxriTa LEHS
8,9 : o6 | WOB— 1:22.9 6-6-5-4 |38.2| — 1 450 | =EEE (KiR)
2|11 | L1 ¥>T K 5.0 (") Cp) |WTER
L:xF1=Tr7—R BEIYTATvY s EE 45035
NP B 5 | - 1:23.1 1-1-2-1 |39.0| -— 2 447 | /INEEERAE (BEFE)
3l7|7|\by & 53.0 A 1/2) (+2) |EBET
LT RIA YAV BXE—E—FZ P
S . i REER : R - BAAER (KR)
al5l5 | FITFr—EWR 5 e 1.(223).4 3-2-1-2 | 39.3 5 <5+122) kR
L:NT BiEYRRTAU-— HE Btk
- i 5 | SIEEE 1:23.6 7-8-8-7 [38.5| — 9 434 | 1EBE#ER] (KR)
EH 4 J_T47147 51—13r|0 (1 1/4) +1) (B) x—x457
R:7H4FALTNK B:7A3IXCMAy b SRS
> s B 4 | AtFIE 1:23.8 8-9-9-8 [38.4| — 4 392 |/NEREE (EER)
6|78 FI*F—Fv= 53.0 (1 1/2) | @ =257
R:7T5v78%Y—K B:JL—XJAUTF2R SH Fi
. 4 6 | EBRE 1:24.4 2-3-3-5 |40.0| — 10 443 | E7EE] (KR)
78|10 ¥FRILF > 5.0 ) Lo |REEET
L:2=—/xLLy b B:T—TOvH LA N7 7 — L4
S 5 BAJ ER LR : 77— — 12 ARMA (KR)
8 3| %%y b it 6 2 1.(214).6 9-7-7-6 | 39.7 6 (g:) et i
L:ARTA MR BIT)NT 41— HBITr—L
= S 4 ERRTE 125, —5-6- . — HHEF (KR
ofYs | TrFron—% e s A I i el I = VR
&:Shirocco B:v>FI—2a HET77— L
45 | WA 1:25.5 10-10-10-10{ 39.5 | — 7 428 | fELAE— (KR)
10[8] 9| X TXANINT 53.0 (76) cy | @ x-z57
R:2¥2Yy3Y BNLZX Edrer]
® 1—F—@EBIERL
13—7+— 7,10,5,2,6,1,4,8,3,9
20—F— 7,5,10,2,6,1,3,4,8,9
Ja=5= 5,7,10,2,1,6,3,4,8,9
40—F— 7,5,2,1,10,3,4,8,6,9
[ N5
B OB 2 6400 | | 71 K 1-2 150/ | | # & 1-2 320 | | =R 1-2-7 220
B B 2 110H 2-7 200M B = 1-2 300 EE 2-1-7 3,100
1 1004 1-7 130H B H 2-1 1,390
7 110

ABICOVWTRDTEEERROODE. TR LIV,




